"
PAPER CODE - 6191
. (11™ CLASS - 12019) :
'HEMATICS , GROUP FIRST : TIME: 30 MINUTES , MARKS: 20
OBJECTIVE

2: You have four choices for each objective type question as A, B, C and D . The choice which
you think is correct , fill that circle in front of that question number. Use marker or pen to fill
the circles. Cutting or filling two or more circles will result in zero mark in that question.

STION NO. 1

(I} The multiplicative identity of real numbers is
(A) 0 (B) | (C) 2 (D) 3
(2) . The tabular form of the set {XxEQAX* =2} is

(A)(VZ,-¥2) B){4) (O(} D){4,-4) .
3 The additive inverse of a matrix A is

Wa  ®-A ©A @©HUR
(4) If A= [ajlmxn , then cofactor of ajj is

A) (DM B DM (O CIEIMy @) ()M

(5) The polynomial 3x* <2x+1 has degree

oW ®3 (@2 @4

(6) If w is cube root of unity , then w* =

(A1 (BY0 () w (D)2w

X

{7)  Partial fractions of — will be gf the form

(x—1){x+2)

A B 1 1 A B
oo Yo B 48 we B} e
(8) - The next term of the sequence 7,9, 12, ......... is
A)16 (B) IS5 (C) 14 (D) 18
€3} Reciprocal of A.P. is called
(A) AP (B) GP.  (C)HP." (D)HM
(10)  Factorial form of n(n — 1){(n - 2) is
(A) (n—:)"r (B) (n-n'z}.l © {niliIJl () (njla)!

(11)  If n(8)=20,n{B) =2, then P(B) equals
oW ®s ©- D1
{12) If o isany positive integer then 2" > 2 (a+1) is true for al!
(A)n<3 B)n<3 () a=3 (D)n>3 _
(13)  Number of terms in the expansion of (1+x)>™! is
(A 2n+1 (B)2n (C)2n-+2 (D) 3n+]
(14) The 60" part of 1-degree is called
" (A) second  (B) tninute {C) degree (D) Radian
(13) sin(-x) =
(A) sec (B) -sin e {Cysinx (D) -cos
J16)  The range of ¥ = cosx is -
(A) -1 =x=1 (B) ~co<x<eo (C)-1gy<] D) ~w<y<w
A7) Angle below the harizontal ray is called
(A) Rightangle  (B) Oblique angle  (C) Angle of depression (D) Angle of elevation
18)  With usual notation , y, =
CWE B O o
19)  Tan! (1)=
AT BYWE () e (D) 1t
20)  If sinx =Y ,thenx = ; : '
(A) 6, St/6 (B) —16, SW6 (C) —w/6,~5m/6 (D)n/3, 213
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11" CLASS - 12019 : TIME : 2,50 HOURS
SUBJECTIVE MARKS : 80
SECTION-1
ESTION NO.2 Write short answers any Eight (8) questions of the following - 16
| | Name the property -3<-2 = 0<1
2 Simplify ()" ' -
3 | Express the complex number 1 +i+/3 in polar form
4 | Define a group ]
I'S | Differentiate between é-qual and equivalent sets
6 | Define a function. Also give one example of a function
. 0 -4 1
7 | Show that B= l 4 0 —3} is skew symmetric
-1 3 0
8 If A= [_i _nl] , show that A*=
O | What is the rank of a matrix ?
10 [ What are the extraneous roots of an equat: on "
11 | If (x+1) and (x — 2) are factors of x° + px”+ qx +2 . find the values of P and q.
12 | Discuss the nature of the roots of equation x2 F2x+3=0
LE‘?TION NG.3 Write short answers any Eight (8) questions of the fu[lowmg 16

[ 1 T Define conditional equation

12 o TRAES e BL TR =
: If ekl und value of B \
5% . . - 248 )

3| write partial fraction form of ;_%-E;f—;

4 Findrhes‘“temof P r— , a8 ;
L 2 - i
511 1 s E and ; are in AP, show that the comnmon différence is %r: ]
6, Whu:h term of the sequence x*—+v? | x+ ¥ x—+: . | is T;’i_l)-;—q e

e 7 i

7| If 2%, b% and ¢? arcmAP , show that — J—,——aremAP

b+c "c+a ¥ a+b
8 |Sum the serics 2+(1-1) +T Forrain g ~ 10 8 terms !
g oa 1Z%11 ]
9 | Find the value of n when "Cyg = J:,
1
10 [ Expand (x+ V%2 —1 ¥
11 ,  3\1C
Find the 6% term in the expansion of (x T

12 | Using Binomial theorem find the value of 5v31

JESTIO‘\ NO. 4 Write short answers any Nine (5) guestions of the following

| (ouver* the 35" 20’ to radians

o

Find the value of sin 8 if cos § = — and terminal arm of 'he ar:gle is in quadrant [V

Prove  (sec 8 + tan #)(sec @ - ta.n 8)=

. Find the value of Sin 75% without using table/calculator

(S} N A )

s:n 34 cos3g
Prove that — Silmm— i
smﬂ cosd

sl Bx+sin 2 :
Show that —22T3002% =tan ﬁx

CusBx+cus2x

(=)

‘What is peniod of a function 7

1

In the nfrht angled triangle ABCif y=90", «=58"13" b=125.7. l'm:l a

Find area of the triangle ABC, ifa=18, b=24 ,¢=30

—| —i vl oo

0 | Défine In-circie of a trLa.vgl
1

Find the value of sec ( sin” ( -—) )
% Ive sinx + cos x = O in[D,m)

rTJ

' . 1
[1 Solve tan® g =3, 9€(0,n

(P.T.0)

-t



SECTION-II

c: Attempt any Three questions from this section 10x3=30

Q. 5-(A) | State and prove the reversal law of inverse

all"'l_'_b.']"-‘l.

may be the H.M between “a”and “b "
all+hh J

(B) : Find “n™ sothat

|

‘ Q. 6-(A) | Solve the system of linear equations x =y =2

; 2x-z=1
i _ 2y =3z=4]

(B) ’ In how many ways 8 books including 2 on Lnglish be arranged on the shelf in such a
way that the English books are never together

}k..

Q.7<(A) | If o, B are the roots.of the cquation ax” +bX + ¢ = , form the equation whose

1 T £
’ +— + 2
roots are o+ — B -

(B) | Identify the following series as.binomial expansion and find its sum

3 35 5
Ll 4324380,
1 4.8 4.43,12

Q.8-(A).| Prove that :

cos+sinl cos#—5iné - _'2
cas §+sind cosd+3ing 1-2sin28

(B} | Provethat:  cos 20° écos 40° cos 80" = ;1

' Q.9-(A} | Prove that with usual notations = {y; — y¥) Cot % =C

.13

) Y .
(B} | Prove that tanl; + tan”' 2 - tan’!

B o
19

&3

5
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ATHEMATICS , GROUP SECOND

YTE: You have four choices for each objective type question as A, B, C and D . The choice which
you think is correct , fill that cirele in front of that question number. Use marker or pen to fill

D&k-cﬂz.u-:q

PAPER CODE - 6192
(11" CLASS -'12019)

OBJECTIVE

TIME: 30 MINUTES ,

the circles. Curting or filling two or more circles will result i in zero mark in that question.
JESTION.NO. 1

(1

(2)

(N

(8}
(9}
(10)
(I
(12)

[f Z= ~-3—-41 Then |L| is

A 4  ®7 (©O1 D) 5

If a, b are the elements of a group G, then (db}'1 =

@Wa'v! @b (@I D) =

If A is a matrix of order 2x2 then [KA| =

) KIAL B KAl (OKAP (D)KA

A

If [_2

(A) 2 (B (©) -1 (D) -2

Product of four 4™ roots of unity is

@Ai ®B-i (-1 (D) 1

If oc, Barethervots of 3 —2x +4=0 the o+ =
1 2 2 -2

A 5 ®) © 3 8)

(ab‘ 1

_ﬂ 15 singular matrix then A =

3 )
Partial fraction of [—x?:?_;&?'f)_z is of the form
B C
— + — + —_— ot — o ——
(A\‘J (BJ ®2-1  [(x+1)2 C) x+1 +(x+1)2 (x+1‘|‘ )

If apa= 7n -—S then 7% term is

(A)9 (BY15 (O) 11 (D) 13

Arithmetic mean between V2 and 3v2 is

(A) 3v/2 BYvVZ2 (2 (D) W2

A fair coin is tossed twice then prubabiiﬁy of getting tail both times is
(A 1 (By % (C) % (D) 4

If "Ce="Cs then n will be

A2 ®6 (©S8 (D) 14

he expansion of (3 — 5x)'” is valid only if

CAxE<3 B) [xI<5 (@ Ix[<S3 (D) x| <35

(13)

(14)

(13

(1é)

Sum of exponents of a and b in every term of (a+b)f is
(Ays (B7 (O3 (D) 12

In anti clock wise direction i rotation is equal to

(A) 90°  (B) 180° (Cy 270 (D) 45°
sin868—sind 0 =

(A) 2sin668sin4 6 (B}ZcosZSsinGﬁ (ClZcos 68 sin28 (D) -2sinb

The period of sin 3x is
Wz  ®r ©OF OF
If an angle is in standaid form then its vertex is at

(Ar(1,0) @O0 [ ©OL O
For a triangle ABC with ‘_tisuai nolations y =

Wi B O OF

The value of sin™ (cos 11;’6;} is
A6 (B2 5 L (C) T D)3

The solution of tan x = — fﬂr x €[0,n]is

|
(A) {12} mnmh£mmm (D) {4}

Ax+D
T

x2-1
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o D
xt1 (x+1)2
"B cos2d

MARKS: 20



/DG'K-G{Z-I/-H

1" CLASS - 12019 TIME : 2.30 HOURS
SUBJECTIVE - MARKS : 80
-SECTION-1 ' : :

J:STIO’\T ‘\H‘J 2 Wrife short answers .any Eight (8) questions of the following 16

Prove the following rule >+ <= 298¢ . i

b3 bd bd : ) |

2 | Simplify (5.-4)%(-3,-2) K
: . |

(3 | Express the complex number 1 +iv3 in pc;]ar form

4 | Show that the statement p — (p v q) is a tautology
5 Write inverse of the relation and also tell whether relation and its inv erse is a function or
not {(x,y)/x*+y"=9,|x <3, |y| <3}
lG; If a,b areelements of a group G, then show that (ab) T=pTa’
r 7 | Find the inverse of the matrix : [ ! _:]
[ bc ca ab] T T 7 ]
i 8 | Without expansion verify that % % % =0
[t a b c |
|5 | If the matrices A and B are symmetric and AB = BA , show that AB is symmetric
10 T Evaluate \1+w W T-wet w; where w 18 compxcx cube root of unity |

10
11 | Show that the roots of the equation w1]I berational | px” (p~q)x-q=0
12 . Salve the cquatwn by factorization x° - % =2 ' [

QUESTION NQO. 3 Write short answers any Eight (8) questions of the followi mg v 4 16
|1 1 Defi ne a partial fraction i

x3+1

i- g3 —
(3:—1]()“-1;.

| Resolve into partial fraction

[S]

g o sxEii
Write in raixed form ——

x—1

Find the next two terms of - | .2,12,40 .

|
s'[f S.=n{2n-1) , Find the series ’ s ;j
|

&
5
6 | Find the 5% tcrLlofGOP,B,o, 12 et
7 Find thé G.M berwecn 2 and 8i .
§ | Sum the infinite geometric series 4 + 242 + 2 + N+
9 TFind n, if "'P, = 11.109

- IO Write the principles of Mathematical induction

( 11 | Calculate by b'i'nom_ifal thearem (977 up to three decimal places

211 % is so small , that its squd.re and higher powers be neglcctcd , Prove :—__1_..; =] - 32—" —-‘
QUESTION NO. 4 Write short answers any Nine (9) questions of the following 18
1 | Prove that tan @ + cot 8 = cosec @ sec 6 ]
2 I Find x if tan® 45°— cos® *60° = x sin 45° cos 45° tan 60° :
3 Definc radian I
4 | Prave that sin (45°4 o6y = :% (sine + cosex) ‘i)
5| Prove that —S22C tan o )
1l+cosdec i !
6 | Express sin 12° sin 46° as sum or difference . ]
7 | Find jjeriod of sin 3x ' l
'8 | The area of tr1arw.u is 2437 if a= 79 and ¢ = 97 then find angle 8 ’
9 | State law of tangents (ary two) |
10 Ifan'}‘ ,b=3 ,e=35 Find o i
il Show that cos (sin’ Ny =v1—x2 |

12| Solve the equation  sin x = 13 : ' |

| o5 |
i 13 Solve the trigonometric equation  tan § = %

. : R " |

/) (P.T.0)




SECTION-IT

Attempt "'“l" Three questions from this section ] _ 10x3=30

Q. 5-(4) ~ Prove thatthe set S={l,-1,i,-i} isan abelian group under multiplication

(B) | A person invests Rs 2000 at 4 % interest compounded anaually. Whas total amount will |
| he pet after 5 year : |

I — I ]
1 ‘ | X

\ Q. 6-(A) | Show that \ji
1

= (x +3)x— b3

.
N o
P b p

| |
'\ {B) l How many signals can be given by 6 — flags of different colours when any number of |
flags can be used at a time |

| | | R

| Q.7-(A) | Find the three cube roots of unity

. ! rs .

\ (B} \ I[ % is so smalt that its cubs and bigher pawer can be neglected ||
| l| then show thal -l%; =[-x* 1 ¥ |
i '|: : : J
. i : i ) . - -7
~, Q.8-(A) | Without calcutator find the values of the wrigonometric funcilons of the angls : z ]
l 1 . |-
~ (B) | Without using ajeulator , Prove that & Sin 19° Ces1i®+Sin 71%. Sin 1% == |

—— _ o

| Q.9-{A) | If the measures of the sides of a triangie ABCare 17,10,21 Find R,r.r.rpandms |

| |
| s Yo |

= 3 g
.\ (B) ‘ Provi that tan’" k- tanlg - tan” 5 \

L NN B s
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